Density

Density

0.0015 0.0030

0.0000

0.002 0.004

0.000

line = MAGIC.287 ,Chr=1

I I I I I I I
100 300

N =2 Bandwidth =110.5
breakpoint: 8485995 - 8486086 ct-1 zu-0

line = MAGIC.287 ,Chr=3

I I I I I
-100 0 100 200 300

N =2 Bandwidth = 84.62
breakpoint: 2737780 — 2737782 bur-0 oy-0

Frequency

Frequency

1.0 15 20

0.5

0.0

1.0 15 20

0.5

0.0

line = MAGIC.287 ,Chr=1

[ I I I 1
140 145 150 155 160

breakpoint: 8485995 - 8486086 ct-1 zu-0

line = MAGIC.287 ,Chr=3

[ I I I I
100 105 110 115 120

breakpoint: 2737780 — 2737782 bur-0 oy-0



Density

Density

line = MAGIC.287 ,Chr=3

0.008 0.012
| |

0.004
|

0.000

I I I
100 150 200

N =2 Bandwidth =16.08
breakpoint: 22187582 — 22187889 oy—-0 mt-0

line = MAGIC.287 ,Chr=3

0.020
|

0.010
|

I I I I
120 140 160 180

0.000
|

N =2 Bandwidth =8.186
breakpoint: 22217135 — 22217334 mt-0 edi-0

Frequency

Frequency

line = MAGIC.287 ,Chr=3

1.0

00 02 04 06 038

[ I I I 1
100 120 140 160 180

breakpoint: 22187582 — 22187889 oy—-0 mt-0

line = MAGIC.287 ,Chr=3

1.0

00 02 04 06 038

[ I I I I I I
140 145 150 155 160 165 170

breakpoint: 22217135 - 22217334 mt—-0 edi-0



Density

Density

line = MAGIC.287 , Chr =5

0.000 0.010 0.020 0.030

I I I I I I
120 130 140 150 160 170

N =2 Bandwidth =5.847
breakpoint: 12093141 - 12093282 ws—0 ct-1

line = MAGIC.287 , Chr =5

I I I I I
—-200 0 100 300 500

0.0000 0.0010 0.0020 0.0030

N =2 Bandwidth =116.7
breakpoint: 15231381 - 15231400 zu-0 ct-1

Frequency

Frequency

1.0

00 02 04 06 038

1.0 15 20

0.5

0.0

line = MAGIC.287 , Chr =5

[ I I I I I 1
130 135 140 145 150 155 160

breakpoint: 12093141 - 12093282 ws—0 ct-1

line = MAGIC.287 , Chr =5

[ I I I I
140 145 150 155 160

breakpoint: 15231381 - 15231400 zu-0 ct-1



Density

Density

line = MAGIC.287 , Chr =5

0.008
|

0.004
|

0.000
|

I I I I I
50 100 150 200 250

N =2 Bandwidth =21.63
breakpoint: 21013826 — 21013831 bur-0 ws-0

line = MAGIC.287 , Chr =5

I I I I
—-200 0 200 400

0.0000 0.0010 0.0020 0.0030

N =2 Bandwidth =124.6
breakpoint: 21015205 - 21016583 ws-0 bur-0

Frequency

Frequency

line = MAGIC.287 , Chr =5

1.0

00 02 04 06 038

[ I I I I 1
100 120 140 160 180 200

breakpoint: 21013826 — 21013831 bur-0 ws-0

line = MAGIC.287 , Chr =5

1.5 20

1.0

0.5

[ I I I I
140 145 150 155 160

breakpoint: 21015205 - 21016583 ws-0 bur-0



